حل الواجب الاول

Question 1
1. 
Language is creative because ...
Answer

a.
it is spoken only by humans

b.
sign language does not have phonemes

c.
we can produce unlimited number of utterances with a limited number of language components

d.
children need some time to be linguistically competent

Question 2
1. 
Language processing means ...
Answer

A.
Language production only

B.
Language perception only

C.
Speaking only

D.
Language production and language perception

Question 3
1. 
In the mind, lexical entries are organised
Answer

A.
Alphabetically

B.
According to importance

C.
According to the length of the word

D.
According to their meaning and sound


حل الواجب الثاني  
1-In lexical decision experiments, we are looking for response latency and…
D.Response accuracy 

2- Neurolinguistics studies… Answer 
C.Representation of language in the brain 

3-The critical period hypothesis suggests that 
A.There is an age limit for acquiring the first language


الواجب الثالث
1/:the first stage in planning speach is :
B-Accessing the lexicon 
2-:contextual information help us perceive information in what is known as
Top-down information-B
3- :which of the following is an impossible non-English word 
D-crlfxer
4-An anaphoric reference is someone or something that:
C-has been mentioned earlier in a discourse 

الشكر لكل من قام بحل الواجبات
